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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Write general electronic configuration of d-block

elements. Explain their properties in detail with reference

to oxidation states, magnetic character, and complex

formation.

Mh&CykWd rRoksa dk lkekU; bysDVªkWfud foU;kl fyf[k,A

vkWDlhdj.k voLFkkvksa] pqEcdh; pfj= vkSj tfVy xBu ds

lanHkZ esa muds xq.kksa dks foLrkj ls le>kb,A



A–1132/CH E (N)–201 ( 3 ) P.T.O.

2. Discuss in detail Werner’s theory of coordination

compounds. Using this theory explain the structure of

cobalt (III) ammines.

ouZj ds leUo; ;kSfxdksa ds fl¼kUr dh foLrkj ls ppkZ dhft,A

bl fl¼kUr dk mi;ksx djrs gq, dksckYV (III) vekbu dh

lajpuk dh O;k[;k dhft,A

3. What are primary, secondary, and tertiary alcohols ?

Starting with Grignard reagent how will you obtain each

of them ?

izkFkfed] f}rh;d vkSj r`rh;d vYdksgy D;k gSa \ fxzxukMZ

vfHkdeZd ls vkjaHk djds vki muesa ls izR;sd dks dSls izkIr

djsaxs \

4. (i) Derive an expression for entropy change for an

ideal gas associated with temperature and pressure.

rkieku vkSj ncko ls tqM+h ,d vkn'kZ xSls ds fy, ,UVªkWih

ifjorZu ds fy, ,d vfHkO;fDr izkIr dhft,A

(ii) What is entropy ? Calculate the entropy change in

heating of 1 mole of helium gas at 300k to 400k

at constant pressure (Given Cp = 5.0 cal deg–1

mol–1).

,UVªkih D;k gS \ fLFkj ncko ij 300k vkSj 400k ij 1

eksy ghfy;e xSl dks xeZ djus esa ,UVªkWih ifjorZu dh

x.kuk dhft, (Cp = 5.0 cal deg–1 mol–1 fn;k x;k

gS)A
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5. (i) Draw and explain the phase diagram CO2 system.

CO2 iz.kktyh dk pj.k vkjs[k cukb, vkSj le>kb,A

(ii) Write Mannich reaction.

efup vfHkfØ;k fyf[k,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. State and explain Carnot theorem and its significance.

dkuksZV fl¼kar vkSj mlds egRo dks crkb, vkSj le>kb,A

2. Explain the following:

(i) Why are transition elements good in complex

formation ?

(ii) Discuss the distillation of insoluble liquids.
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fuEufyf[kr dks Li"V dhft, %

(i) laØe.k rRo tfVy fuekZ.k esa vPNs D;ksa gksrs gSa \

(ii) v?kqyu'khy rjy inkFkks± ds vklou ij ppkZ dhft,A

3. Write the mechanism of Baeyer-villiger oxidation of

ketones.

dhVksUl dk cs;j&foysxj vkWDlhdj.k dh fØ;k fof/k fyf[k,A

4. Draw a labelled phase diagram of Sulphur system and

discuss its main features.

lYQj iz.kkyh dk ,d ukekafdr pj.k vkjs[k cukb, vkSj bldh

eq[; fo'ks"krkvksa ij ppkZ dhft,A

5. Explain the following :

(i) Chelates

(ii) Mechanism of Houben-Hoesch reaction

fuEufyf[kr dks Li"V dhft, %

(i) psysV~l

(ii) gkScsu&gks'k vfHkfØ;k dk ra=

6. (i) What are azeotropes ?

,ft;ksVªksi D;k gSa \

(ii) Distinguish between positive and negative

azeotropes.

ldjkRed vkSj udkjkRed ,tksVªksi ds chp varj dhft,A
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7. Give the nomenclature of the following compounds :

(i) [Cu (NH3)4] [PtCl4]

(ii) K2 [Ni (CN)4]

(iii) Na2[Fe (CN)5NO]

(iv) [Fe (H2O)6]SO4

fuEufyf[kr ;kSfxdksa dk ukedj.k nhft, %

(i) [Cu (NH3)4] [PtCl4]

(ii) K2 [Ni (CN)4]

(iii) Na2[Fe (CN)5NO]

(iv) [Fe (H2O)6]SO4

8. Explain the following :

(i) Why are phenols acidic ? Explain.

(ii) Clemmensen reaction

fuEufyf[kr dks Li"V dhft, %

(i) fQuksy vEyh; D;ksa gksrs gSa \ bls Li"V dhft,A

(ii) fDyfeulu vfHkfØ;k

**************


